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1.Which type of human service supports reusable subflows in a design? 
A. Heritage human services 
B. Responsive Coach human services 
C. Root client-side human services 
D. Nested client-side human services 
Answer: D 
 
2.What is the definition of the ‘’item’’ type shown in the diagram below? 

 
A. It must be completed by process participants 
B. It uses JavaScript to access and manipulate data 
C. It must be completed by an automated system or service 
D. It uses JavaScript APIs to evaluate a condition in a business rule 
Answer: D 
 
3.How can a developer improve the load times and performance of a table built with BPM Ul controls? 
A. Place the table in a Modal Section. 
B. Place the table in a Response Sensor layout. 
C. Change the columns' "renderAs" setting to 'Simple HTML' wherever feasible. 
D. Replace the implementation to use a repeating layout instead of a table implementation. 
Answer: A 
 
4.To change the state of an offline Process Server to online, a developer needs to set the 
heartBeatInterval to what value? 
A. equal to zero 
B. leave it empty 
C. less than zero 
D. greater than zero 
Answer: C 
 
5.What is a valid logging command to print log statements to the client-side browser? 
A. print.log(‘’info") 
B. debug.log("info’’) 
C. client.log(‘’infon’’) 
D. console.log(‘’info") 
Answer: D 
 
 


